
BMFP-40 FIRE PUMP PARTS LIST 

Shanghai  Jiming Machinery Co. ,  Ltd 

Address: Blvd.4 No.300 Youdong Rd, Shanghai, China, 

201100 Tel: 86 21 54882951 

Fax: 86 21 54882948 

Website: www.shbomax.com

Ver.01 2009 

http://www.bomaxengineering.com/
mailto:webmaster@bomaxengineering.com


Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
BMFP-40 FIRE PUMP PARTS LIST

Administrator
打字机文本



BMFP-40 FIRE PUMP PARTS LIST

Ref. No. Description Qty Price($)/pc

BMFP40-1 Punmp casing 1

BMFP40-2 Mechanical seals(5/8〞 or 3/4〞) 1

BMFP40-3 "O"type rubber seal 4

BMFP40-4 stainless washer 4

BMFP40-5 stainless bolt 5/16"-24UNF*1.5 4

BMFP40-6 "O"type rubber seal 1

BMFP40-7 Impeller 1

BMFP40-8 Plastic bush 1

BMFP40-9 Diffuser 1

BMFP40-10 Rubber seal 1

BMFP40-11 Screw 1

BMFP40-12 Washer 1

BMFP40-13 Bottom valve 1

BMFP40-14 Pump casing 1

BMFP40-15 Draining plug 1

BMFP40-16 Washer 8

BMFP40-17 Blot M10*1-39 8

BMFP40-18 Spring washer 8

BMFP40-19 Nut M10*1 8

BMFP40-20 Rubber gasket 1

BMFP40-21 Outlet 1

BMFP40-22 Screw M8*58 4

BMFP40-23 "O" rubber seal 1

BMFP40-24 Plastic plug 1

BMFP40-25 Rubber seal 1

BMFP40-26 Outlet cap(3/2") 1

BMFP40-27 Plastic ribbon 3

BMFP40-28 Rubber seal 2

BMFP40-29 Outlet cap(1") 2

BMFP40-30 Handle 1

www.bomaxengineering.com/webmaster@bomaxengineering.com/BMFP-40 Parts List Ver.01 2009  Page2


	BMP-40 drawing.doc
	BMP-40零件明细（无价格）.xls
	Sheet1




